Get out your book and turn to page 175! Warm Up on #1,2, and 8. We
will have target check on Friday over rate of change and slope.

Classwork - Slope
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Determine whether the relationship between the two quantities shown in each
table or graph is linear. If so, find the constant rate of change. If not, explain
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Problems i#1-3 represent lincar relationships with a constant rate of change. Find the constant rate of change.
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3. The graph shows the cost of renling movies.

A) Find the constant rate of change for the graph.
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B) Explain what the point (2, 10) represents in this situation..
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Determine whether the relationship between the two quantities deseribed in each table is linear. If so, find the
constant rate of change, If not, explain your reasoning.
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For Exercises 3 and 4, refer to the graphs below,

6. Use the bown to the right.
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7. Use the graph shown to the right.
a. Find the constant rate of change and interpret its
meaAning.
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b. Determine whether a proportional linear
relationship exists between the two quantities
shown in the graph. Explain yvour reasoning.
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The term slope is used to describe the steepness of a straight line.
Slope is the ratio of the rise, or vertical change, to the run or
horizantal change.

Complete the graphic organizer.
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A ride at an amusement park rises 8 feet every horizontal change of
2 feet. How could you determine the slope of the ride?



Find Slope Using a Graph or Table

slope Is a rate of change. It can be positive (slanting upward) or
negative (slanting downward).
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1. Find the slope of the treadmill.
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Simplify.
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The slope of the treadmill is EE;;-.

Go¥ i+7 Do this problem to find out. (D

a. A hiking trail rises 6 feet for every horizontal change of 00
100 feet. What is the slope of the hiking trail?



Examples

Tutor

2. The graph shows the cost
of muffins at a bake sale.
Find the slope of the line.

Choose two points on the
line. The vertical change is
2 units and the horizontal
change is 1 unit.
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3. The table shows the number of pages Garrett Time | Poges 5
has left to read after a certain number of (min),x  left,y
minutes. The points lie on a line. Find the P - “~
slope of the line. +L ; = -3 y\
Choose any two points from the table to find ~ ¥& -3
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the changes in the x- and y-values. L
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To check, choose two different points from the table and find

the slope.
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Got (¥7 Do these problems
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Slope Formula

Words The slope m of a line passing through Model
points (x,, ¥y and (x5, ;) is the ratio
of the difference in the y-coordinates
to the corresponding difference in the
x-coordinates. (e, ¥
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Symbols m = —, where x; F x,
Mo = Xy .

It does not matter which point you define as (xy, y4) and (x3, y3)-
However the coordinates of both points must be used in the same order.
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Example

L}, Find the slope of the line that passes
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Got (+7 Do these problems to find out.
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